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Maths. Summer Bridging Work.

REQUIRED:
Problems section…
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OPTIONAL

Research:
Listen to this “In Our Time” podcast by Melvin Bragg. (These are an excellent resource for extra research). Make notes and attach them to the bridging work. 
http://www.bbc.co.uk/programmes/p00545hk
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Prop. LXXI. Theor. XXXI.

Iifdem pofitis, dico quod corpufculum. extra Sphericam fuperficient
conftitutnn attrabitur ad centrum Sphere, i reciproce proportiona-
li quadrato diftantic fuee ab eodem centro. 4
Sint AHK B, abkb quales duz {uperficies Sphericz, centris
5, s, diametris AB, ab defcriptz, & P, p corpulculafita extrin~
fecus in - diametris illis produétis.  Agantur a corpufculis line2

Mathematics

Melvyn Bragg and guests discuss the way perceptions of the importance  Available now
of mathematics have fluctuated in the 20th century, the nature of © 30 minutes
mathematical ability, and what mathematics can show us about how

Iife.
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Questions - Do not use a calculator. Show all workings (use additional paper if necessary).
Section 1: Maths Skills (Write on the sheet)

1.Expand and simplify

(a) @x + 3)x-1) (b) 4x(3x - 2) - x(2x + 5)

2. Factorise

(a) ¥*- 64 (b) 2x% + 5x- 3

3. Simplify

(b) P2+ 4p = 12

5. Make x the subject of the formula

(@) v? = u? + 2ax (b)y:%:

6. Work out the values of the following, giving your answers as fractions

1

(@ 472 (if
(b) 27,
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Section 2: A Level Style Questions (Attach additional paper)

2
1. Giving your answer in the form a + bv'2, where a and b are rational numbers, find (3 — V8)

2. Solvethe simultaneous equations

3. The diagram shows a sketch of the curve with equation
y = f(x). The curve passes through the origin O and
through the point (6, 0). The maximum point on the .
curve is (3,5). 02
On separate diagrams, sketch the curve with equation

@y =3f(x

by =fx+2)

Show clearly the coordinates of the maximum point and 3 \‘6_ >
of each point at which the curve crosses the x-axis.

¢ The diagram above shows 3 yachts A, B and C which are assumed to be in the

N same horizontal plane. Yacht B is 500m due north of yacht A and yacht Cis
0 700m from A. The bearing of C from A is 015°.
B (a) Calculate the distance between yacht B and yacht C, in metres to 3
significant figures.
00 The bearing of yacht C from yacht B is ", as shown in the diagram.
500m w

(b) Calculate the value of 9.
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80°

A 3.8cm

ABC is a triangle.
D is a point on AB.

Work out the area of triangle BCD.
Give your answer correct to 3 significant figures.

D
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V5 +v20

Alarge rectangular card has a length of V5 +
V20 cmand a width of V8 cm. A small rectangle
of length /5 cmand width vZ cmis cut out of
the piece of card.

Express the area of the card left as a percentage
of the large rectangle. (Ans to 3sf)
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